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Basics Linear Equations Part B
L
A cable company recorded the percentage of households
in the United States that had cable television from 1987 The scatterplot below shows the number of
to 1997. In the scatterplot below, x represents the congressional representatives, X, and the population

number of years since 1987 and y represents the

percentage of households with cable television. y, in thousands, for 25 of the 50 states i the United

The line of best fit for the data is shown. Sates.
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Basics Linear Equations Part B

1 1=
-3
Which of the following is an equation of the line
graphed in the xy-plane above? _S
/
f/& = o
What 1s tt;c slope of the line shown in 7(, 1 fun
the graph’ h =—;—x+10 o
_1 ~ 3
2 B)
CAEE O -— x5
8 2
C. —3 W y=-2x+10
D —£

D y=-2x+5 _—

H

What 1s the equation of the line
passing through A(1,0.5) and

(perpendicular\to the graphed line?

A.y--;-x g
3 —
B.y=2x—; |
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Basics Linear Equations Part D
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Basics

m & @\

The weight of an empty fish<ank is4 pounds. & gallon
of water weighs approximately § poufids. Which of

the following best approximates the total weight w, in
pounds, of the fish tank and g gallons of water?

A) w=8¢g \

@ =8g+4 | -

C) '=4g+8 éf 3R g
D) w=4g

o

. Which of the following
functions best approximates the volume v(f), in
cubic feet, of water in the pool f minutes after

pumping begins, for<t=%957"
CADV(t) = 1,385 =20t

N (1) = 1,385 - 69t
C) v(t)=1,385+ 20t

P ¥(t) = 1,385 + 69t
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Linear Equations Part U

A full of box of cereal initially contains 28 ounces. If
2.4 ounces of cereal are eaten each day, which of the

following represents the number of ounces of cereal,
C remaining in the box after d days?

A) C=-24d+28
B) C=-24d-28
C) C=24d+28
D) C=24d-28
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Basics Linear Equations Part E

13

A gaming website charges its client by
number of games downloaded g. If the total

fees f of a gamer are given by the equation

f = 7g+88, what is the best interpretation of tn meters per second (m's), of an object  seconds affer bemg
the term 88? b dropped nto a free fall. Which of the following 1s the best

mterpretation of the number 9.8 i this context?
A. The speed, 1n m's, of the object when 1t huts the ground
B. The mncrease m speed, 1n m's, of the obyect for each

s=08¢

The equation above can be used to approxmmate the speed s,

A. The price of one downloaded game.

(B The subscription fees of the website
C. The average number of games

downloaded per player —_— “ﬁ“ . | .
D. The fees of downloading 7 games C.The speed, mms, of the object £ seconds affer 1t 15
dropped

D.The mnitial speed, 1n m/s, of the object when 1t 15 dropped

Sarah ordered a set of golf clubs and a golf bag The distance d, in feet, from the ground to a flag

on a flagpole t seconds after a person begins

online, which were shipped to her house. The i :
lowering 1t 1s modeled by the function

weight w, in pounds, of the ba%;alnd the clubs 1s d(t) = 20 — 2t. In this function, what does 20
estimated by the equation w=1.2¢+13, where ¢ is represent?
the number of clubs in the bag. What 1s the best A) The distance, in foet. of the flag from the
interpretation of the number 1.2 in the equation? ground before 1t 1s lowered.

@ The estimated weight, in pounds, of 1 club B) The distance, in feet. of the flag from the
B) The estimated weight, in pounds, of 13club ground after 2 seconds.
C) The estimated weight, in pounds, of the bag with C) The number of seconds 1t takes for the flag to

a0 R reach the ground.

D) The rate, in feet per second, at which the flag

) The esumated weight, in pounds, of the bag moves s it is lowered

with 13 clubs

p
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Basics Linear Equations Part E

Years since 2012

~—

The scatterplot above shows the Bee
population in a certain farm for every year
since 2012. A line of best fit and its equation
are also shown.

Which of the following i1s the best

interpretation of the value -56.429 in the
equation of the line of best fit?

A. The average increase in the number of

bees each year.

\% The average decrease in the number
of bees every 525.71 years.
The average decrease in the number
of bees each year.

,ﬁ The number of bees present in the
beginning.
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y = 1.84x 4+ 1.99

-

»

At 8:00 am., a patient 1s given a dnp feed
containing a particular chemucal and 1ts
concentration in his blood s measured, in
suitable units, at one interval as shown above
in the scatterplot. A line of best fit and its
equation y = 1.84x + 1.99 are also given.

14. Which of the following is the best
mterpretation of the y-intercept in the
equation of the line?

A. It x increases by | umt, then y
increases by 1.84 units.

B. If x increases by 1 unit, then the
concentration of the chemical in his
blood 1s expected to increase by 1.84
units.

C. Before drip feeding the patient, the
concentration of this particular
chemical in his blood 1s expected to
be 1.99 units.

D. A1 9:00 am., the concentration of this
particular chemical in his blood 1s
expected to be 1.99 units.
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Basics Linear & Exponential

+loo A radioactive element loses half its mass each
The population of gorillas increases by 100 every year. Which of the following graphs could model
month. Which of the following graphs could the mass of the element as a function of time?
model the gorilla population as a function of
time? A)
/\)
gonllas
years
months
B)
gonllas mass
g e I : ears
gonllas C)
K mmﬁ‘s
- years
gorillas
D)
months i i
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Basics

The number of dandelions in a large park is
recorded over the course of five months, as
shown in the table below.

Month | Dandelions
1 12,500
T2 2,500 g
3 500 i
3 100 9
5 20

Which of the following best describes the
relationship between time and the number of
dandelions during the five months?

)&(} Increasing linear
'B) Decreasing linear
%} Exponential growth
\\D/p\ Exponential decay

—

The value of a stock is going up by 200% every
hour. Which of the following best describes the

relationship between time (in hours) and the
value of the stock?

A) Increasing linear

>B) Decreasing linear
@Exporlgn___t_ial growth

12) Exponential decay

| KABLY TEAM

Linear & Exponential

The number of criminal cases in a state district is

recorded over the course of five years, as shown
in the table below.

Which of the following best déscribes the

relationship between time and the number of
cases during the five years?

A) Increasing linear
B) Decreasing linear
C) Exponential growth
D) Exponential decay

A house is losing a fourth of its value every year.
Which of the following best describes the
relationship between time (in years) and the
value of the house?

A) Increasing linear
B) Decreasing linear
C) Exponential growth
D) Exponential decay
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Basics Quadratic Part A

A 2C +bx +C:0 ks & 2x2_6 X 31
4 g =2 b= dp-uac
e ,_bijb’-—-b(ac T 24
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Basics

Find the value of x in the equation

2x*=3x-5=0
%) 1 2-3 "5"(*
B 0 o-°-5°-

@ G Z e /5301/

D) No solution

Find the value of x in the equation

Ty
x(x —3)=—7 - 10x
ﬂ %) 7+\/_ z 3.)( .(,/o):-}':? S
/{0 —7+\/ﬁ
5 ¢ 7+\/ﬁ | bq- J]’? L{AC
) 2. -
D) =7+ Vil b-3 -+ Jw_ua™

2 - - o= e

- -/7;7

. Which of the following 1s a solution for
the equation 2x* — 7|x| +5=07
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Quadratic Part A

Find the value of x in the equation

2m*+5n-9=0

Find the value of x in the equation

D) No solution
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Basics Quadratic Part B

IZ'- S UM x + Fro -0

ex x?—§51+€6:o " 5k dige ,xz_'_Sx,}, 6;0
+ &5 ﬁen_ o = ....2 3
ume
’ Sum= 2
Fred= 6 016

ex-
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Basics Quadratic Part B
BN
The sum of the zeros of y = x° + 6x - 4 is: The sum of the zeros of y = x° - 7x +5 is:
E) -6 A) -7
F) 6 B) 7
G) -2 C) -5
H) 2 D) 5
4 |
The sum of the zeros of y = 3x" - 6x - 4.is: The Product of the zeros of y = 2x° + 6x -10 is:
A) -6 2L 2 -1 A) -5
<& 3
B) 6 B) 5
C) -2 C) -10
D) 2 D) 10

The sum of the zeros of y = 5x° + 6x -7 is:

The Product of the zeros of y = 4x° + 8x -12 is:
p— Yy Y g A 6/5
2 7:1-—-3 -
B 3 ot B) -6/5
D) -7 ) 7
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Basics Quadratic Part C
, J
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Basics Quadratic Part C

:
=y =6x-16 y=7x*-28x+21

The graph of the equation above is a parabola in the
xy-plane. In which of the following equivalent forms

The graph of the equation above m the xy-plane 15 a of the equation do the x-intercepts of the parabola
appear as constants or coefficients?

parabola. Which of the following equivalent forms of the A) y=7(—4x) +21

equation mcludes the x- and y-coordnates of the vertex as B) y=7x(x~4)+2l
C) y=7(x-2)*-7
D) y=7{x-1)(x-3)

constants’

g y=(r=3) =25
B.v=x(x=6)=16
C.y=x" 2061+§)

D.y+16=x(x=0)
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Basics Quadratic Part C

"%

Z_me—_g 2x2+bx+8=0
2 _rx ¥ 9 =0 In the equation above, 3 is a constant. For what
) What is thel minimum positive mteger value positive \.(alue of 3 does the equation have exactly
A = one real solution?

of m that allows the above equation to have
b - two real solutions?

77> _

2
_2 2X ) dx=1 x* -ax+6=0

[n the equation above, f is a constant. If the

: equation has no real solutions, which of the following In the equation above, What is the

C=- ¢  could be the value of t ? minimum positive value of a if the equation
@ _3 L Wac < o has two real solutions?
B) -1 /44)2/14(27('04‘3
C —~>
) | M , (&194'0 -4
D)y 3 16
) Ul 3

m x° + 4x+2=0

x’ -ax+6=0
ol plin In the equation above, What is the positive In the equation above, What is the
) value of m if the equation has one real - minimum positive value of a if the equation
: solution? has two real solutions?
B YalC =
C=? b
N =
/) 2_y(m)?
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